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17 | 08:00 [7+2| 70 &kl |p+d A R T AT
18 | 08:00 ¥+ 75k |HR AF |5 34, B34
19 | 08:00 |7+ 2| 80 ke |prid A IRl T
20 | 08:00 |7 +2| 90 e |peid A R 14,14
21 | 08:00 |*=& 85k #4006 | AF | X 14,514
22 | 08:10 |~ =+ | 50 &k |4 (5006) | A% |& 8+, B8«
23 | 08:10 |++'= 55 &k [ (B00G) | A [H 24,724
24 | 08:10 |+ = 60 ke |#4(5006) | A-F |2 14,51 %
25 | 08:10 |~ =+ | 65 &k A (5006) | AF |5 44, B4
26 | 08:10 |~ 75 &= 4 (5006) | A+ % |& 34,534
27 | 08:20 |7+ =| 45 gk = [5000M IR L
28 | 08:20 |¥+ =] 50 &= (5000M A |F8 A, EELA
29 | 08:20 |7+ 2=| 55 gk [5000M IR L
30 | 08:50 |7+ | M24 #& %= [5000M AE | E1 A BEREL A
31 | 08:50 |7 +2=| 25 % [5000M IR -L X
32 | 08:50 |¥ -+ 30 #% = |5000M A | F 64, FEL A
33 | 08:50 |7 +2=| 35k [5000M IR X
34 | 08:50 | %+ 40 #& % [5000M A-E |2 10 4, RS A
35 | 08:50 |7 +=| 55 gkl |BtiE AFE R34, B34
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36 | 08:50 |7+ 60 ke |BriR AgE (BT A BT A

37 | 08:50 |+ +| 80 fhe |42k (2KG) | AF |H 14,514

38 | 08:50 |~-+=| 85k & |47k (2KG) o SR IRl T

39 | 09:00 |~ |M24 f e [EH#(600G) | A% |£ 14,814

40 | 09:00 |~+2| 25 i |HR4E(600G) | A% | 34,234

41 | 09:00 |+ =) 30 &k [#£4(600G) | #A-F |2 14,51

42 | 09:00 |~+2| 35 i IR (600G) | A |£ 14,214

43 | 09:00 |~ =) 40 & [$£4£(600G) | #A-F |2 14,51 %

44 | 09:00 |~+ 2| 45 peie R (600G) | AFF |4 4,244

45 | 09:10 |9+ 60 ke |44 (KG) | AF 564,764

46 | 09:10 |7+ 2| 65 ke [@&(1KG) | AF |£ T4, B~TH4

47 1 09:20 |75 2| M24 & = [100M PR (E 144,628 RS A
48 | 09:20 |++ 2| 50 e [&zk(3KG) | AF |[H T A, BT A

49 | 09:20 |~ 2| 55 e (& 3R (BKG) | AF £ 24,724

50 | 09:20 |+ =+=| 60 k2 |42k (3KG) | AF R 24,B 24

51 | 09:20 |*=+=| 65 ke |42k (3KG) | A F |[% 54 ,B5 4

52 | 09:20 |*+=| 25 ke | AFE |5 34, B34

53 | 09:20 |~+=| 30 & (B3 ey SR IRl T

54 | 09:20 |++=| 3Dkl B3 A R 14,14

04A | 09:20 |+ =| 45 ke |B*B AF |F 1A,

55 | 09:20 |*+=| 50 ke |3 AFE R 24, B2 4

56 | 09:20 |~ = 60 ke |B*B AF |F1A, 1

57 | 09:20 |9+ T0 k= (B3 AF |5 34, B34

58 | 09:20 |7 5= T5 ke |BB AF O |F24, 2

59 | 09:20 (7 +%2| 80 k= (B3 A R 14,14

60 | 09:20 |§+=| 90 ke (B33 AR (R 1A B4

61 | 09:20 |~+=) 75 ke |&3GKE) | AF |24, 24

62 | 09:26 |7+ & 25 & = [100M SRR |2 1T A, A 2k, B8 A
63 | 09:30 |7+ =| M24 &k o |BhiE A O|ET AT A

64 | 09:30 |7 +=| 20 jkle |BMiE oy SR IRl T

65 | 09:30 |92 30 & Bk A | 34,334

66 | 09:32 |7 +&| 30 = |100M A | F6 4, EHEE A

67 | 09:35 |7+ 40 e |100M PEAE (B 124,42 B84
68 | 09:40 |73 | 50 F ke {545 (700G) | A-F | 10 ¢, B8 4

69 | 09:40 |7+ 2| 55 k= [ (T006) | AF |£ 44,54

70 | 09:41 |7+ &| 35 = |100M PR (R 10 A, A 2, iR A
71 | 09:47 |95 & | 45 & = |100M PR (2 124,420 B8 A
72 1 09:53 |9 +=| 50 fk = |100M PR (R 124,428, g8 A
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73 [ 09:59 |2+ =] 55 & = |100M 6L BEE L
74 | 10:02 |25 2| 60 &= |100M 13 roe R
75 | 10:08 |2+ 2| 65 &= |100M 5&#&%5&
76 | 10:10 |95 2| 35 o |prid 5 &, B 5 X
T7 | 10:10 |25 2| 40 k& |prid 6&,%64
78 | 10:11 |2+ 2| 70 &= [100M L6 ARG A
79 | 10:14 |95 2| 75 &= |100M Y RSEY Wi
80 | 10:17 |7 5| 80 f& e |100M E A B2 A
81 | 10:17 |7+ =| 85 g |L0OM Cl AL R A
82 | 10:20 |~ x| M24 & = [100M ERETER
83 | 10:20 |~ x| 25 &= |100M NSEY A
84 | 10:20 |95 2| 50 fiw |p T A BT X
85 | 10:20 |2+ =] 55 ke |pra 94 B2 X
86 | 10:20 |95 2| 60 & |p3 ] A, 4
87 | 10:20 |2+ x| 65 ke |pra 6 4,B6 <
88 | 10:20 |~ =| M24 f& ‘= |4:3% (4KG) ] A, X
89 | 10:20 |~ =| 25 = |4:5% (4KG) 34, B3«
90 | 10:20 |~ x| 30 & = |43k (4KG) 24,/&24
01 | 10:20 |~ = =| 40 f = |4:5% (4KG) 5 4, B 5 X
02 | 10:20 |~ = =| 45 f = |4:3% (4KG) 94 B2 X
03 | 10:20 |7 5 | M24 & & |#145 (800G) g 4, B8«
04 | 10:20 |75 | 35 & & |#45 (800G) 3&,/&3&
05 | 10:23 |~ = =| 30 g = [100M £ 3 A AR A
96 | 10:23 |%==| 35 = [100M ERETER
07 | 10:26 |~ = =| 40 g = [100M LA BIED A
08 | 10:26 |~ 5| 45 g |100M EAA B A
99 | 10:32 |~ = =| 50 g = [100M ERE TR
100 | 10:32 |~ 52| 55 &= |100M Pl ABE] A
101 | 10:32 |~ 52| 65 &= |100M LA BIED A
102 | 10:35 |~ 2| 75 &= |100M L ALBRE] A
103 ] 10:35 |~+ x| 80 & = |100M LA B2 A
104 | 10:35 |~ 2| 85 &= |100M Pl ALBRE] A
105 | 10:50 |~ =| 45 & = |80MH(0. 7620 Pl ALBEL A
106 | 10:50 |~ 3| 50 & = |SOMH(0. 7620 R T Y
107 | 10:55 |3 52| 70 & = |SOMH(0. 7620 XY T
108 | 10:55 |95 =| 75 & & |80MH(0. 762m) Y S
109 | 10:55 |7+ 2| 25 &= [1&4 (800G) T A BT A
110 | 10:55 |2+ 2| 30 &= [ (800G) SR
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111 | 11:00 |+ =+ = | M24 &k = [100MHco. 840 A | 1 4, #iE1 4
112 | 11:00 |~ 25 % = [100MH AFE LA ERLA
113 | 11:00 |+ =+ 2| 30 & = [100MHco.840m)| A3 | 2 4, #Hif 2 4
114 | 11:05 | %+ 60 g [100MHco. 84000 A% | 3 4, #iE 3 4
115 | 11:05 | ¥+ 2| 65 g2 [100MHco. 84000 A% [+ 3 4, B 3 4
116 | 11:10 | %+ =) 50 g [100MHc0. 9100 A% |% 4 4, #FHiE4 4
117 | 11:10 |9+ 2| 55 e [100MHco. 9140 A% [+ 3 4, #H B 3 4
118 | 11:15 | %+ 2| M24 gk e [110MHco. 9900 A% |= 1 4, #F i1 4
119 | 11:15 |9+ 2| 35 e [110MHc0. 9900 A% [+ 2 4, #FH B2 4
120 | 11:15 | %+ 40 el [110MH. 9900 A% = 1 4, #F i1 4
121 | 11:15 |9+ 2| 45 e [110MHc0. 9900 A% [+ 2 4, #H B2 4
122 | 11:25 |9+ 2| 40 gee [#R4£(800G) | A F |+ 84,28 ¢
123 | 11:25 |9+ 2| 45 fh e [R4(800G) | % |+ 9 4,78 4
11:30 B %&£ 4 k3t
ek 11020 > FFRBRR ~ES > L FEAR R 508 4 52 RIFRE o kK
Aﬁﬁr&ﬁ 85;&11r#i‘”i\@qﬂ%“c%p;@;&g\,\

ARPEE s PEE - S %El’ﬁ e

107 09p 12:00 RA* BEFRF  12:30 5:F + 1 K2
I =0 | RPER| N 7 A FArw] [E L LK
124 | 13:00 |7+ 2| 80 % 2 |47k (3KG) AFE |2 34,34
125 | 13:00 |7+ %2 | 90 & % |47 (3KG) A R 14,14
126 | 13:00 |7+ =| 25 & % |[4844 (2KG) o SR IRl T
127 | 13:00 |7+ 2| 30 & % |44 (2KG) sy SR TR Al T
128 | 13:00 |7 =+ & | 35 k2 |44 (2KG) AF |5 34, B34
129 | 13:30 |7+ =| 25 #& % |400M e I -L X
130 | 13:30 |~ =+ =] M24 /& 2 |Bei& oy SR IRl T
131 | 13:30 |~ 32| 30 Al |wrik Ak |2 34,331
132 | 13:30 |~ =] 3b fkle |pi& AFE R34, P34
133 | 13:33 |7+ | 30 &= |400M a2 YA
134 | 13:36 |7+ 22| 35 & % |400M IR L T
135 | 13:39 |7+ | 40 & 2= |400M A |55 A, EEDLH A
136 | 13:40 |7 +%=&| 2D ke B+ AFE R34, 34
137 | 13:40 |5 +=2| 35 Eke (B3 A (R 1A B A
138 | 13:40 |7 +&| 40 ke |B*3 o SR IRt T
139 | 13:40 |97 +%=| 45 ke B3 AFE R34, B34
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140 | 13:40 |9+ 2| 40 fh e [B&2KG) | A% |2 74,274

141 | 13:40 |9 +e| 456 fle |44 (2KG) | A-F |6 4,764

142 | 13:42 |3+ 2| 45 g = |400M A |56 4, BEL A
143 | 13:45 |7+ = | 50 g = |400M AR T ABBTA
144 | 13:48 |73 2| 55 g = |400M AF FAERAC
145 | 13:50 |9+ | 45 fhle |4e3k(T.26K6) | & F | 94,78 4

146 | 13:51 [7 32| 60 #& 2= |400M AF [F5 A, EBESH
147 | 13:54 |7+ = | 65 g = |[400M AR |34 BB
148 | 13:57 [7 32| 70 f& = |400M AF FAERAC
149 | 14:00 |7+ %= | 75 g = |400M AR R4 BRE4A
150 | 14:00 |7 32| 80 f& 2= |400M AF FLAERLA
151 | 14:03 |~ =] 25 k= |400M AF [F3A HB3H
152 | 14:03 |~+=| 35 &= |400M AF FLAERLA
153 | 14:03 |~ =] 40 = |400M AF FLAHERLA
154 | 14:03 |~ +=| 45 = |400M AF |[F3AEBR3
155 | 14:06 |~ 2| 50 &= |400M AF F2A HEBR2A
156 | 14:06 |~ 2| 70 & = |400M A FLAHERLA
157 | 14:06 |~ =] 75 &= |400M AF FLAERLA
158 | 14:20 |~+ 2| 45 ke B A |F 34,7314

159 | 14:20 |~ =] 50 &k Bt A 34,3314

160 | 14:20 |~ =] 55 ke B AE |F24,32¢4

161 | 14:20 |~ =] 80 o2 [Big AF |F1A, 1

162 | 14:20 |~ =] 85 ke Wik AE |F LA

163 | 14:25 |~ 3= | 25 &= |1500M AF FLAERLA
164 | 14:25 |~+ | 35 &= [1500M IS 2
165 | 14:25 |~ 3= | 40 &= |1500M AF F2A HEBR2A
166 | 14:25 |~+ | 45 & = [1500M AF FA4 HERAN
167 | 14:25 |~ =] 50 & = |1500M AF |[F3A HB3H
168 | 14:25 |~ | 70 k= [1500M AF FLAERLA
169 | 14:25 |7 32| 75 & |1500M AR | F2A EBR2A
170 | 14:25 |93+ @=| 85 fk = |1500M AF FLAERLA
171 | 14:35 |7 3 2| M24 & 2= |1500M AR | F2A EBR2A
172 | 14:35 |93 =] 25 fk = |1500M AF FLAERLA
173 | 14:35 |73 2| 30 & % |1500M AF |F3 A EBE3A
174 | 14:35 |93+ =| 35 f&k = |1500M AF |[F3AHEBE3N
175 | 14:35 |7 32| 40 & %= |1500M AR O FTAERTA
176 | 14:40 |9 +2| 25 fole [4R3R(T.26K6) | A-F |H 1 4,214

177 | 14:40 |7+ 30 e |43R(T.26K0) | A |H 24, P24
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178 | 14:40 |9 +| 35 fhle |4R3R(T.26K6) | A-F |H 2 4,224
179 | 14:40 |7+ ) 40 ke |GTR(T.26K0) | A F |H 54, P54
180 | 14:40 |9+ | 50 k2 |44 (1.5k0) | AF |% 10 £+, B~ 8 4
181 | 14:40 |7 32| DOkl & (LBKG) | A FF [F T4, 2T4
182 | 14:45 |7+ x| 45 f = [1500M A R 104, #FE8
183 | 14:45 |7+ 2| 50 g = [1500M A |56 4, BE6 A
184 | 14:55 |9+ | 55 fk = [1500M A | F 64, EHEL A
185 | 14:55 |7+ = | 60 f& = [1500M A |F 34, BB
186 | 14:55 |9+ 2| 65 &k = [1500M AF |84, EERA
187 | 14:55 |7+ | 70 f = [1500M e - X
188 | 15:10 |+ & #dbi 400 > <44 A% 1310 = +4F &
189 | 15:10 |9+ 50 fk & |B:R AF |5 114,581
190 | 15:30 |9+ |& #db 400 > <44 A% 1330 = +4F &
191 | 15:40 |+ =+ 2| 80 gele [4BAHO0.7T5K0) | AF |% 14,51 ¢
192 | 15:40 |+ =+ | 85 ke [MB&Q0.75K6) | A+ F |% 1 4,514
193 | 15:50 |7 32| 45 e |prig A |R 94,84
194 | 16:00 |+ =+ 35 ke [5000M 4 | A% |21+, #HiE1 4
195 16:00 |*=+ | 45 gk = [5000M s | A F |% 2 4, B2 4
196 | 16:00 |+ =) 50 gk [5000M s4_ | A& |14, #HiE1 4
197 | 16:00 |~ 52| 60 k= 5000M #4_ | A% |2 24, #HBE2 4
198 | 16:00 |¥+ =) 30 g [5000M s4_ | A |14, #HiE1 4
199 | 16:00 |9+ | 35 ke 5000M 4 | AF |2 14, #B1A
200 | 16:00 |7+ | 40 ke 5000M w4 | &AF R 24, B2
201 | 16:00 |9+ 2| 45 &= 5000M #4_ | A F |2 34, #HEI A
202 | 16:00 |7 +%2| 50 fk e 5000M &4 | AF | =14, #E]1
203 | 16:00 |9+ =) 55 ke |5000M #e4_ | A-F |2 24, #HE24
204 | 16:00 |7 +%=| 65 ke 5000M &4 | &AF %34, #HEI
205 | 16:00 |7 =+%| 70 ke 5000M w4 | A% X 24, B2
206 | 16:00 |7 +| 75 ke 5000Mea_ | A& |% 34, #HEI A
207 | 16:15 |9+ | 80 e |[#46(4006) | A% |54 4,341
208 | 16:15 |7 +| 90 ke R4 (4006) | AF |1 4,514
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107 10p (2#Hp) 06:30 Bing?

N LA AN I P FAzn| £ 4

209 | 07:00 |~=x=| 25 #% = |10000M AR R 24 BIE2A
210 | 07:00 |~ =2 30 #& = |10000M IR -L X
211 | 07:00 |~ 2| 35 &= |10000M AE 1A BEREL A
212 | 07:00 |~ = 2| 40 #& = |10000M AFE LA ERELA
213 | 07:00 |~ 3| 45 & = |10000M AE O E1T A BEEL A
214 | 07:00 |7 52| 65 & |10000M A R 134, B8 A
215 | 07:00 |¥ =2 70 #& = |10000M IR - T
216 | 07:00 |72 75 #% = |10000M IR -L LI
217 08:00 |~ | 55 ke |[gh&(1KG) | A |&£ 2 4,524
218 | 08:00 |~=| 60 e [#&(1KG) | AF |& 3 4,B 34
219 | 08:00 |~ =) 65kl |[&(1KG) | A |£ 44,544
220 | 08:00 |~ | 75 ke h&(1KG) | AF | 24,524
221 | 08:00 |7+ 2| 70 ke [#4(500G) | AF |4 4,B~4 1
222 | 08:00 |7+ | 75 ke R4 (5006) | AF |& 3 4,B 34
223 | 08:10 | %3 %| 45 & = |10000M AFE |64 EELH A
224 | 08:10 |7+ x| 50 #& 2= |10000M e - X
225 | 08:10 | % x| 55 & = |10000M A |55 A,EEDLH A
226 | 08:10 |7+ | 60 #& 2= |10000M A |56 4, BE6 A
227 08:20 |7+ 2| M24 2 |= Bppig Ak |2 1A B A
228 | 08:20 |7+ x| 25k |= mpriR A (R 1 A B A
229 | 08:20 |7 Fx| 30 k& |= mpriR A (R 1 A B A
230 | 08:20 |¥ Fx| 35k |= &phid A R 1A B
231 | 08:20 |7 32| 40 k2 |= BmpriR A |5 34, B34
232 | 08:30 |7+ 2| 50 ke |G 3k (6KG) | A-F |% 10 4,58 ¢
233 | 08:30 |7 | 55 ke |&-3k(6KG) | AF |£ 6 4,764
234 | 08:40 |~ == M24 fkle |4 (1KG) | A |5 14,514
235 | 08:40 |~ | 25 fhle 4E&(IKG ) | AF |£ 14,514
236 | 08:40 |*~+=| 30 ke [B&(KC) | AF |£ 14,5114
237 | 08:40 |~ | 35 ke E&(1KG) | AF |£ 14,514
238 | 08:40 |~ | 50 gke W& (IKG) | A |% 64,56 4
239 | 08:40 |7 +x| 60 ;e [HEA4(600G) | A% |% 54,54
240 | 08:40 |7+ =] 65 ke [HE4E(600G) | A | 5 +,P~5 4
241 | 08:40 |~ | 40 ke & (1KG) | AF |£ 4 4,744
242 | 08:40 |~ | 45 fhle E&(1KG) | AF | 2 4,B2 4
243 | 09:00 |9 +2%=| 25 &= (10000M AE | E2A BB
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244 | 09:00 | ¥ =+2=| 30 #% % [10000M 4L ERALA
245 | 09:00 |3 =+2=| 35 #% = [10000M L3 A BRI
246 | 09:00 |9 2| 40 & = |10000M ETAEBRTA
247 | 09:10 |9+ | 45 ki |= &prif £ 5 A BH A
248 | 09:10 |9 | 50 ki |= &prif £ H A BH A
249 | 09:10 |9 +=&| b ke |= &pMig E2A, B2 4
250 | 09:25 |9 =] 70 & % |44z (4KG) 4 A B4
251 | 09:25 |9+ 2| 75 gk e |4&3k (4KG) HQ A, B A
252 | 09:30 |9 =] 60 & %2 &3k (5KG) £ H A BH A
253 | 09:30 |9+ | 65 & % |&-3k (5KG) 44, B4 4
254 | 09:45 |9+ | 80 f& % |4azk (3KG) £ 3 A, B34
255 | 09:45 |9+ | 90 f& 2 |44z (3KG) £ 14,814
256 | 09:50 |+ | 25 #& & |400MH E1AHEBELA
257 | 09:50 |9+ | 50 #& % |400MHco. s40m) E3AEBRIA
258 | 09:50 |9 =+ | 55 & % |400MHco. 840 HQ2AHIE2A
259 | 09:55 |9 =+ | 25 & % |400MHco. 9141 E1AHEBELA
260 | 10:00 |9 =+ :=| 45 #& %2 |400MHco. 9141 E3AEBRIA
261 | 10:00 [+ == | M24 /& % | = &gtk 214,801 4
262 | 10:00 |++x2| 35 ke |= &prid 214,801 4
263 | 10:00 |+ 3| 50 gk |= &pri £ 3 A, B34
2634 | 10:00 |+ = | bh gkl |= &prik H1 A1 4
264 | 10:00 |+ =| 65 gk |= &prik 214,514
265 | 10:00 [+ =+ x| 80 fk 2 |= Bprik 214,801 4
266 | 10:00 |+ =| 85 gkl |= &prik 214,814
267 | 10:00 |9 +2| 80 ki |= &prid H QA B A
268 | 10:00 [¥+ 2| 90 gk 2 |= Bprik 214,814
269 | 10:00 [*=+2| 30 ke |#HFpt3 214,814
270 | 10:00 |9 +=| 25 ke |[HE B3 H QA B A
2711 10:00 (932 30 ke (¥ p+3 14,814
2721 10:00 |3 +=2| 45 ke |[HEP3 £33 A B3
2731 10:00 (93| 50 k2 |H¥pt3 £ 3A, B34
274 1 10:00 |9 +=| bH ke |[HEP3 H QA B A
275 10:00 (932 60 k22 | ¥ pt3 23 A, B3 A
276 | 10:00 |9 +=2| 65 ke |[HEP3 H QA B A
2771 10:00 (932 70 k2 ¥ pt3 14,814
278 | 10:10 |9 =+ =| 60 #& %2 |300MHco. 7621 E1 A EBRLA
279 | 10:15 |9+ 2| 65 & = |300MHco. 7621 1A HERIL A
280 | 10:20 |9+ 2| 50 gk = |43k (6KG) H 4 A B4
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281 | 10:20 |9+ | 55 A& |45k (6KG) o S IRt I
282 | 10:25 |9+%=| 70 ke |43k (4KG) | AF |£ 3 +,B 3¢
283 | 10:25 |9 +=| 75 fkle |43k (4KG) A R 24,24
284 | 10:35 |+ = | M24 k= |200M AE | E1T A EEL A
285 | 10:35 |+ =+ =] 25 & = |200M AF LA ERILA
286 | 10:35 |+ =+ =| 30 & = |200M AR F4A BRA
287 | 10:35 |+ =+ =] 35 & = |200M AF LA ERILA
288 | 10:35 |+~ | 40 & = [200M A ETA BRI
289 | 10:38 |+ =] 45 & = |200M AR |F6 A HBEE A
290 | 10:38 |+ = | 50 f& = |200M AR |F3 A BRI
291 | 10:41 |+ =+=| 70 & 2= |200M AF LA ERILA
292 | 10:41 |+ =| 80 & = |200M AF F2A HBR2A
293 | 10:44 |9 =+ x| M24 & = |200M AR FAA ERAC
294 | 10:47 |9+ 2| 25 = |200M PRAE (£ 10 4, A28, BB
295 | 10:53 |9 +x| 30 & = |200M AR | F2A HEBR2A
296 | 10:53 |9+ =] 35 & = |200M AF |[F5 A, EBSHA
297 | 10:56 |9+ 2| 40 & = |200M AF O ETH ﬁ%? A
298 | 10:59 |7+ x| 45 & = [200M e A B84
299 | 11:00 |7 +2| 60 k2 |= &ptid AF %6 A,B&6 A
300 | 11:00 |9 + =] 65 ki |= spti AR R34, B34
301 | 11:00 |§ 52| 70 ke |= mprig AF |54, P54
302 | 11:00 |9 +=| 75kl |= mphig AF |F24, 2
303 | 11:05 |9 5| 50 & % |200M AF |[F8 4, HBE8N
304 | 11:05 |7 2| 60 ke 43R (5KG) | A |£ 54,5514
305 | 11:05 |7+ 65 ke 4ask(5KG) | &% |55+, P54
306 | 11:08 |9+ 2| 55 & = |200M AR |F3 A HB3A
307 | 11:11 |# 3| 60 f& = |200M PR (£ 10 4, A 28, BB L
308 | 11:17 |9 5| 65 % |200M AF FA4 HERA
309 | 11:20 |9 +=| 70 & 2 200M A |F6 A HBE6 A
310 | 11:23 |9+ 2| 75 & = |200M AF |F3 A EBE3A
311 11:23 |73 | 80 & |200M AE FLA BRI
312 | 11:23 |9+ 2| 85 & = |200M AF LA ERILA
313 | 11:30 |+ =] 25 & = |800M A R 24,024
314 | 11:30 |+ =+ =] 35 & = |800M A |R 34,34
315 | 11:30 |+ =+ =] 40 & = |800M A R 40P
316 | 11:30 |+ =| 45 & = |800M A-F |55+, P54
317 | 11:30 |+ =+ =| 50 & = |800M AF |F 34,34
318 | 11:35 |9+ =] M24 # = 800M A R4,
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319 | 11:35 |9+ 25k = |800M Ak R 24, B2 A
320 | 11:35 |9+ 2| 30 & = (800M AFE R 24, B2 4
321 | 11:35 |92 35 & = |800M o S SRRl e
322 | 11:40 |9+ 2| 40 & = |800M A R T A BT A
323 | 11:40 |3+ = | 45 & = (800M A (R 114,581
324 | 11:45 |7 | 35 ke [dAzf(roeke) | AF |£ 14,514
325 | 11:45 |9+ | 40 gkl |[dazk(ro6ke) | A |£ 14,214
326 | 11:45 |9+ 2| 50 g = |800M A |54, P54
327 | 11:45 |9+ = | 55 f& = (800M A-FF |&£ 5 4, B-H 4
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